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1. 12-3456 - 6-23 — 5-0045 = ?

(1) 6-1156 (2) 7-3411 3) 11111 (4) 2-2222
12-3456 — 6-23 — 5-0045 = ?
(1) 6-1156 (2) 7-3411 (3) 1-1111 (4) 22222

2. T 5 feAdean died=a fasiei=n Tegar PB 95219 YR PB 95274 Yda=Al s faFie
Aed. W e YT fema feet 2

(1) T 275 (2) T 285 (3) T 265 (4) T 280

What is the total cost of a bundle of T 5 lottery tickets having tickets of serial numbers
from PB 95219 to PB 95274 ?

(1) T 275 (2) T 285 (3) T 265 (4) T 280

3. AW JUTr QN o9 fAWH TEEn onEK 255 SRS @ o W' Hivr ?
(1) 15,17 (2) 16,17 (3) 19,16 (4) 18,15
If product of two sequential positive odd numbers is 255, find those numbers.

(1) 15,17 (2) 16, 17 (3) 19,16 (4) 18,15

4, TESRE TE SH FR T 60,000 T UFG. TH FUAC @M A T 45,000 @ fawel. W
Teher dter feedt ?

(1) 15 (2) 20 (3) 30 (4) 25

Rajanju purchased an old car for ¥ 60,000. After one year he sold it for ¥ 45,000. What
is the percentage loss ?

(1) 15 (2) 20 (3) 30 (4) 25
5. l+—2—+§+E+E=‘?

5 4 3 2 1

(1) 87 (2) 15 3 1 4) 5

1 2 3 4 5

S+ -+ -+ -+ ==7

5 4 3 2 1

(1) 87 (2) 15 3) 1 4) 5
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6. 4,44, 444, ... a7 SEAMTTERT YRS 9% G€T 9 o) S0 ol EA & At
I WHET IF w48 ?
1 7 (2) 8 3) 9 (4) 5
What will be the digit at ten’s place if first nine numbers from the series
4, 44, 444, ... are added together ?
(1) 7 (2) 8 3 9 (4) 5
7, e
(Xz — YZ) (x + Y) = sisrran
(x + y)? '
1) x-y) (2) x+y)
(3) @2x+y) - (4) I HRE A
Solve :
(ch—yz)(x+y)= .
ey
(1) x-y (2) x+y)
3) 2x+y) (4) None of the above
8. A dEd d2W 5 AW (2 L. ceAvEn T et 5 AW 30 B T oM. @

fEeelia QU 1:54 990 THAT <aGaed f&dt ava s ?
(1) THSd 3:24
(2) THSH 2:24
(3) UHBH 4:24
(4) UH>Y 8:24

London is ahead in time by 5 hours than New York. New Delhi is ahead in time by
5 hours 30 minutes than London. What will be time in New York when time in
New Delhiis 1:54 PM ?

(1) 3:24 AM
(2) 2:24 AM
(3) 4:24 AM
(4) 8:24 AM
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9. dsd@
©5* + 02° _
03F — 02
(1) 141 (2) 14-1 3y 014 (4) 0-141
Solve :
©5* + 02° _
©3)?% - 02%*
(1 141 2y 141 (3) 014 4y 0141
10. 50 9F T 7 1 I OR, WA 3:2 A FHNG SOcHN 140 F9E 50 JwiE fadr Al
I ?
(1) 120 (2) 80 (3) 140 (4) 100
If coins of 50 paisa and one rupee are taken in the proportion 3 : 2, how many coins
. of 50 paisa will be there in a sum of ¥ 140 ?
(1) 120 (2) 80 (3) 140 (4) 100
11. dere 10 WHeX S=Al AT T 1000 TR, TR 25% o Ge fUamam derdl fend
W ofiex frdt B ?
(1) TT70 2y 75 (3) T80 (4) 85
The cost of 10 litre oil jar is T 1000. If on that 25% oil is free, then what will be the
cost of oil per litre ?
1)y T70 (2) TS (3) T8O (4) T 85
12. g
13 37 23
— + — 4+ — = ..
100 10 10
(1) 0-613 (2) 613 (3) 613 4) 73
Solve :
13 37 23
— 4+ — 4+ — = ...
100 10 10
(1) 0-613 (2 613 (3 613 4) 73
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13. 9 9 SgiE 09 36 9 SR, SR, oAl S it 10 9 oWw, w ouit 99
e,
(1) 23,13 (2) 32,22 (3) 42, 32 (4) 22,12
An addition of ages of two brothers is 36 years. If the difference between their ages
is of 10 years, find their ages.
(1) 23,13 (2) 32,22 (3) 42, 32 (4) 22,12

14, Sicle s 99 @ 1 99 9fd 2 ek e 9 1 W 9 5 W U o e
SiefteaT feawr=ar wichd FICTae 49 Wahe, 130 e, 291 THe g TSl Ficad FHramast
352 Wehe, 544 Ve 3@ JRA. R 2 g WA fae Soeuw fEdt ol ?
(1) T4-14 (2) ¥ 315 (8) 305 (4) T 425
Dolly’s mobile service charges are 1 paisa per 2 seconds during day time and 1 paisa
per 5 seconds during night time. Dolly’s day time calls are of duration 49 seconds,
130 seconds, 291 seconds and night time calls are of duration 352 seconds and
544 seconds. Her mobile bill will be around
(1) T4-14 (2) T 315 (3) T 3-05 (4) T 425

15. TEIFE FUd g&F R ?

1 10 x3+14x5 16x5+4x5

15 x 2 6 x5
27T x 2 + 23 x 2 24 x 3+ 7 x4
(2) >
Tx T B x 8
14 x 3 + 29 x 2 38 x2+8x3
(3) <
35 x 2 26 x 2
bxbhx2+5x10 6 x 7T+ 29 x 2
(4) <
37 x 2 Bx5x5

Which of the following is wrong ?

1 10 x3+14 x5 16x5+4x5

15 x 2 6 x5
27 x 2 + 23 x 2 24 x 3+ Tx 4
(2) >
Tx7 8 x 8B
14 x 3 + 29 x 2 38 x2+8x3
(3) <
35 x 2 26 x 2
5x5x2+5x10 6 x 7+ 29 x2
(4) <
37 % 2 B x5x5b
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16. 2100 ¥ 16% =
(1) 363 (2) 336 (3) 633 (4) 900
16% of 2100 = .
(1) 363 (2) 336 (3) 633 (4) 900
17. T& ANVY & &M 6 feawd gof Ftar onfor @mn qam o9 M 18 Rawia gof &l =)
N QT TR FH F R & A w1 Pl Fwam R aw arde ?
(1) 45 feag 2 4 fam
3) 5 feaw 4) 35 fGag
A man can do a job in 6 days and his son can do it in 18 days. How many days would
it take them to do the job if they worked together ?
(1) 45 days (2) 4 days
(3) b5 days (4) 3-5 days
18. oF UEIE IV 146 A WeAdIG T 18 R, | @ W& 3T
(1) 82 37T 64 (2) 100 30T 46
(3) 20 37T 38 (4) 82 T 100
The addition of two numbers is 146 and difference between them is 18. Then these
numbers are
(1) 82 and 64 (2) 100 and 46
(3) 20 and 38 (4) 82 and 100
19. 6 [i _ 1] -
5 4
(1) 33 (2) 11/20 (3) 21/20 (4) 45
5 4
1) 33 (2) 11/20 (3) 21/20 (4) 45
20. TEFAE 11:20 TG UG I FET g fodle FRT AW AU A AgF

A 314,

(1) 135° (2) 140° (3) 145° (4) 130°

At 11 : 20 in the clock, the minute arm makes an exact angle of with the
hour arm.

(1) 135° (2) 140° (3) 145° (4) 130°

T BRI SR / SPACE FOR ROUGH WORK
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21. SWETEQ TS 3.
(1) -z ' (2) T
(3) , (4) Tifga
Spirogyra is a algae.
(1) Blue green (2) Green
(3) Red (4) Colourless
22, - g —57° ¥, Td 4T FOW @ TGRS, deT o I (FRET) T
TEUTAld.
(1) TEZISH (2) ST
(3) wferm (4) HET SA-3HFAES
gas when cooled to -~ 57°C, freezes and it is called dry ice.
(1) Nitrogen (2) Ammonia
(3) Helium 4 (4) Carbon dioxide
23, IEANERET SR TEUAEE 9= 99 Y94 ¥9T ot e ?

(1) 25 ¥ SfafeA (2) 7-8 ¥9 dfafes

(3) 5 I wfafex (4 12 77 wfafe

The normal salt intake, to avoid complications like hypertension, should be
(1) 2-5 gm/day (2) 7-8 gm/day

(3) 5 gm/day (4) 12 gm/day

24,

wmﬁwmﬁmaﬁwﬁwﬁaﬁmm
RBUTA.

(1) FEHT goted 2) FHxHT faEw

(3) UwETH W (4) EI uiEE

The process of splitting of a heavier nucleus inte lighter nuclei together with release
of energy is called '

(1) nuclear fusion (2) nuclear fission

(3) chemical reaction (4) combination reaction

woedl HIRATS! 3T / SPACE FOR ROUGH WORK
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25. W MavarEr fha g woIe Fwe wa,
(1) voa SAHTH (2) drEer
(3) e ToHABiTEH (4) TEAIEH
initiate the process of blood clotting.
(1) WBCs (2) Lymphs
(3) RBCs (4) Blood platelets
26, TWRRMENY Yo+ @referde | LEGIERGG
1) W (2) i
3) W anfr e (4) TEE & A fhar e & @
Reproduction in Spirogyra takes place by method.
(1) vegetative (2) sexual
(3) vegetative and sexual (4) neither vegetative nor sexual
27. 9 AY WA 60% THII IR ST,
(1) wEglvm @) i
@) fad 4) FEA SH-EEEs
Biogas contains 60% of gas.
(1) hydrogen (2) oxygen
(3) methane {(4) carbon dioxide
28. e & T TR,
(1) STl (2) eSS
(3) =il (4) st
Sunflower is a plant.
(1) gymnospermae (2) monocotyledonous
(3) pteridophyta (4) dicotyledonous
29, MU A T HuW A
(1) R 2) i (3) sHEAEHET (4) e
Snail belongs to phylum
(1) Mollusca (2) Arthropoda (3) Echinodermata (4) Nematoda

o] HIERIS! ST / SPACE FOR ROUGH WORK
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30. €9d EESIEEA HdleT A FE vjHed 3T,
(L TH ¥ @ T
(3) el sy (4) STEFTE Wy
In saturated hydrocarbons, bond hetween two carbon atoms is of type.
(1) single bond (2) double bond
(3) triple bond (4) ionic bond
31. T A W Sae ifiT e e ¥ied oe T8 TR,
(1) T (2) 99
(3) WIS (4) g
is the smallest planet of our solar system and the one nearest to the Sun.
(1) Venus (2) Mercury
(3) Mars (4) Earth
32. T EIRtGIGH
(1 faggy faemmdt
(2) T Yo giEfquardt
(3) foea safauamEe:
(4) = T {1 sHfquarEel

33.

Alum is used

(1) for electroplating
(2) to stop bleeding
(3) for making statues
(4) for manufacturing of glass and in paint industries
LN LI a1 iR F FR WU
(1) eRaeas (2) dqHOEH
(3) TR 4) TITEREH
is called powerhouse of a cell.
(1) Green plastids (2) Mitochondria
{3) Ribosomes (4) Lysosomes

ol SHTS] 3TN / SPACE FOR ROUGH WORK
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34. TAGSH W ¥ UH ST,
(1) frae enfor 339 (2) a3 anfty =4
(3) =gH 3T aMEHEA (4) TESNE ety fhde
LPG consists of
(1) methane and ethane (2) methane and butane
(3) butane and isobutane (4) hydrogen and methane
35. i 3P IO Yamed @ IR,
(1) Mg (2) Na
(3) Ne (4) He
The element having complete octet is
(1) Mg (2) Na
(3) Ne ‘ (40 He
36. 20 3WgH WY F@eew fagygd ofuage 05 Iifog fagya o aRvaEE! @ qigerde

37.

qEEE A A faveio smm.
(1) 2 volt (2) 1-5 volt
{(3) 1 volt {4) 10 volt

If a current 0-5 A is passed through a wire of resistance 20 ohm, the potential
difference across the wire should be

(1) 2 volt (2) 1-5 volt
(3) 1 volt (4) 10 volt

39 P TS @iel Hieced dgAl 5 e 97 fRdr dNa ?
(1) 98 H./9. (2) 1225 H@i/9.
(3) 245 W./4, (4) 49 T8,

If a ball is released from the terrace of a tall building, then what will be its speed
after 5 seconds 7

(1) 98 m/s (2) 1225 m/s
(3) 245 m/s (4) 49 m/s

Tl RIS SR / SPACE FOR ROUGH WORK
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38. WVEN SR U WU YWAN dI9RE 0°C IR 4°C T aRfad s o .

39.

40.

(1) g de

(2) ¥HWT grEd

(3) HIEN WEe B Al

(4) YEAWIET NFHTT UEd § Hed NG g

Anomalous behaviour of water means when temperature of water is raised from 0°C
to 4°C it

(1) contracts

(2} expands

(3) remains unchanged

(4) initially it contracts then expands

MKS 95 qEN & 3T,
(1) FHA

(2) eIgd

(3) e/

(4) =T/

MEKS unit of pressure is

(1} Newton

(2) Dyne

(3) Newton/m?

(4) Dyne/cm?

feRoTiT g .

(1) T (2) T
(3) 4 &
rays have no mass.

(1) Alpha (2) Beta
{(3) Gamma (4) X

o] SHRET 0 / SPACE FOR ROUGH WORK
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41, YRR 3B W T,

(1) <RI 9Rd (2) ST WRA (3) Toa (4) IfEr

Palegar’s revolt took place in .

(1) South India (2) North India (8) Gujarat {4) Orissa
42, WA B NS ITYE IR ?

(1) 39 1857 — TEM FE

2) 38 1851 — fowar idar s

3) 3.9 1890 —  WHdl =MD FEQ

(4) IV 1858 — YA 3=d AN FE

Which one of the following pairs is correctly matched ?

(1) 1857 AD. — Licensing Act

(2) 1851 AD. — Widow Remarriage Act

(3) 1890 AD. — Age of Consent Act

(4) 1858 AD. — Indian High Court Act

43

. TH. 1906 T FerEin UEA FAG WA sfavee e wor e ?

(1) =Ew 95 S (2) TR A

(3) g Ji (4) 3w ggd

Who was the ﬁresident of Calcutta National Congress Session held in 1906 A.D. ?
(1) Wyomesh Chandra Banerjee (2) Dadabhai Naoroji

(3) Surendranath Banerjee ‘ (4) Allen Hume

44.

(1) IR TS det

(2) SIfegaTen S HAgr TEdT SRS el Heaeial deit
(3) faarsa gwase=r d@

@) Uee fae fomg Feem Toa@e ddl

Mahatma Gandhiji first staged national ‘Satyagraha’ at the time of
(1) Non-Cooperation movement

(2) The movement against the massacre of Jallianwala Bagh®

(3) Khilafat movement

(4) Movement against Rowlatt Act

Tl HH™S 1 / SPACE FOR ROUGH WORK
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45, ‘<SH-=W we R T WP a7,

(1) Uere FR acmE (2) Bl 9

(3) IMHFHN (4) TioAT HERHT

The ‘Chauri-Chaura’ incident brought an end to movement.

(1} Anti Rowlatt Satyagraha (2) Quit India

(3) Non Co-operation (4) Civil Disobedience

46, 39, 1946 WA WO weA WHANY ey U dlum frag wied ?

(1) Sf. adEat (2) =l TSMIETER

(3) S TR TEE (4) FoUrAT TN

Who was elected as President of Indian Constituent Assembly in the year 1946 AD ?
(1) Dr. Ambedkar (2) Chakravarti Rajgopalachari

(3) Dr. Rajendra Prasad (4) Kanhaiyalal Munshi

47, 1857 WY IASNS%S AT AR OF A ST THNTAE ¥ a1 UEA S el
T FA FH GO ae ?
(1) are Y (2) AHRd I¥E
(3) R WE W (4) AfgaeeTE

In 1857, who gave momentum to the agitation against the British by gathering people
of all classes of society ?

(1) Tatya Tope (2) Nanasaheb Peshwa
(3) Bahadur Shah Zafar (4) Azimullah
48. WENIERIN SHee "oadiie o B :
(1) 3 age (2) <A feaw
3) R @me (4) i Swm g
The founder of Home-Rule movement in Maharashtra was
(1) Annic Besant (2) Lokmanya Tilak
(3) Br. Khaparde (4) Dr. B.S. Munje

49, AR AT I Thid WBUA SEee Totdl I aget o Y 89 WA el
M FOTEN WEfET w5 TSI MR FHETAR H @A 7
(1) SHHER 2) ATHT - (3) smicareh 4 =
Rango Bapuji Gupte who went to England as a lawyer on behalf of the King of Satara
on returning dis#ppointed, gathered which class of people to conspire to enthrone the
king ?
(1) Zamindars (2) Farmers (3) Adivasis (4) Soldiers

oAl BHTTIS! ST / SPACE FOR ROUGH WORK
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50. =URUT i QaEr @ 3t gafyg g

(1) 9 (2) ®HqH (3) g (4) e

The fight of the farmers of Champaran was concerned with .

(1) Sugarcane (2) Cotton (3) Rice (4) Indigo
51, ¥ I FUIfUas WAl AEIAA AAAGH 1867 AY TYH O HUIET He

SHITE FE S ?
(1) = M=l sifgue @) ez ey
(3) YO WESTE w9 (4) TEW Afex sraifquH

Which organization established in 1867 worked for social awakening through the
medium of Economic and Agricultural reforms ?

(1) Bombay Presidency Association (2) Indian Association
(3) Pune Sarvajanik Sabha (4) Madras Native Association

52,

YRAT UPEIREA] ITA BRUME AT HA o5 HUM Wadid gt ?
(1) SEari= SHA arESe

(2) EETEAT YUa WSS Fere

(3) derdi= fogomed

(4) dardiea TS TeTe

Santhal movement responsible for the rise of Indian Nationalism, was related with
(1) Land cultivation of Adivasis

(2) Ancient social customs of Adivasis

(3) Education of Adivasis

(4) Political groups of Adivasis

53.

(1) e WRAM! Bl @R gl
(2) R oER gietar wfafael Teaer
(3) TR I TEHH F B

(4) W THE aRaE Sfafs e

Simon Commission was boycotted by Indians, because
{1) It was meant for division of India

(2) There was no representative of Labour Party in it
(3) Tt was headed by Simon

(4) None of the Indians was its member

HoedT SHENTS! 57 / SPACE FOR ROUGH WORK
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16 A
e &, SEE Tac BT g WU 0 U URAT TEE W STYREW @i
7

1) frdsTome Agar @ G ARy

(3) T&Aw & d) <enm RS

Which towering Indian leader gave the ‘Swaraj Mantra’, “Lets agitate and agitate
incessantly 1" ?

(1) Pherozeshah Mehta : (2) Rangaiah Naidu
(3) Narendranath Sen (4) Dadabhai Naoroji
- 55, ‘UF% FIR GE'E T HOR FA ?

(1) TREY A 2 s s
(3) AR SRR () I eERT seea
Who founded the ‘Mumbai Kamagar Sangh’ ?
(1) Narayan Lokhande (2) Shripad Dange
(3) Narayan Joshi (4) Dr. Babasaheb Ambedkar

56. 3.9. 1930 =1 fiRra TomEd faae g 3t Fa 2
(1 3 Hew (2) FUM A
(3) awEfowER MEd (4) 3RUN HEE e
Who led the women revolt in Salt Satyagraha of 1930 AD ?
(1) Prema Kantak (2) Krishna Ghutkar
(3) Awantikabai Gokhale (4) Aruna Asaf Ali

57. WA SRR GuEATeq YA Hgea™ FRUl U

(1) FHITREY TEeEar e

(2) T 9 FidENs @ @l e g

@) 3AS TSR et

(4) AT gea i &

The prominent cause of the failure of the Indian revolutionary organisations was
(1) Absence of coordination among the revolutionaries

(2) Inequality between the British and the revolutionaries

(3) The tyranny of the British

(4) Terror created by the revolutionaries

Tl BHERIS! 3 / SPACE FOR ROUGH WORK
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58. WM facier Waerd 3NfoT TR SR WAl 9 ey AfEER Ame H HEe
R GIRARECAR e o M e 11 e A - | o
(1) 1858 <1 rI<T (2) 1919 T sIA
(3) 1935 ©T $EIq (4) 1947 <1 FrEq
Which Act was opposed by the Indian political parties because of granting of the
privileges to Princely States and unlimited and excessive powers to the Governor
General 7
(1) Act of 1858 (2) Act of 1919
(3) Act of 1935 (4) Act of 1947
59. STIEHIAT IregT FleR 101 Famret wrErar fowm e B,
(1) eefedar @2 f==
(3) e (4) @
Agarkar was sentenced to 101 days imprisonment together with
(1) Lokhitwadi (2) Tilak
(3) Phule (4) Gokhale
60. T §&AT I|AS @H A 29 fomoy e s e
LV ™ (2) HEW
(3) AW (4) 37eATTe
Sir Sayyed Ahmed Khan established an educational institute at
(1) Pune (2) Satara
(3) Agra (4) Aligarh
61. g SR e I SRR FUNAT Wed I 2

(1) @ feEEg (2) TS TR T

(3) @l TAME L (4) TE SdEr G

Whom did Ravindranath Tagore refer as ‘The Pioneer of New Era’ ?
(1) Swami Vivekananda (2) Raja Rammohan Roy
(3) Swami Dayananda Saraswati (4) Mahatma Jyotiba Phule

Tl SIS SR / SPACE FOR ROUGH WORK
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62. fomien Woeen TE 1904 W IR S AN SERRRACN gowd URNSY MEeE
FOA R ?
(1) fae W g dfgem 9Rag
(2) fEd N A IREg
(3) 3w Afgen af wfeg
(4) Ffga adlg el aRieg

Which Conference was organised under the Presidency of Ramabai Ranade in
1904 with a view to organize women ?

(1) Al India Hindu Women Conference
(2) All India Women Conference

(3) All Women Religious Conference
(4) All India Aryabhagini Conference

63. ? giYs 9O gE R
(1) ey (2) T fm
(3) <fem fo= (4) <fere oy
was the mouthpiece of the Satyashodhak Samaj.
(1) Deenbandhu (2) Deen Mitra
(3) Dalit Mitra | (4) Dalit Bandhu

64. YUUTT TEII IR VI HIUR GE Helt ?
(1) AT =Y T 98 (2) wedl diEl I w4
(3) W T (4) e FA
Who started the first girl’s school in Pune ?
(1) Nana Jagannath Shankar Sheth  (2) Maharshi Dhondo Keshav Karve
(3) Pandita Ramabai (4) Mahatma Phule

65. UG T STREK T BV RN (AR Fe ?

(1) HHAgAE (2) HANEK

(3) SfemeT : (4) WIFYER
Which thoughts were advocated by Gopal Ganesh Agarkar ?
(1) Humanism (2) Socialism

(3) Rationalism ‘ (4) Totalitarianism
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66. ‘TasarEr ANE @AY Hoi fafger ?
(1) ¥ B (2) TIYT SRgeT Seh
(3) Tl fausuTeRt (4) i 9% TE A8
Who wrote the book ‘Shetkaryancha Asud’ ?
(1) Mahatma Phule (2) Ganesh Vasudeo Joshi
(3) Vishnushastri Chiplunkar (4) Dr, Bhau Daji Lad
67. Tl ®d A foua faam™ WA UAEE! HOH HET T Felt 7
(1) Fr=m ws (2) 3TTE SfEHEH
(3) fouman faamse dge (4) favar foam @9
Which institution was established by Maharshi Karve to promote the widow
remarriage ?
(1) Nishkama Karmamath (2) Anath Balikashram
(3) Vidhawa Vivahottejak Mandali (4) Vidhawa Vivah Sangha
68, e TUIY HTREK HHIGS GHRUIET TEHR SVl TGS Fid 37Gd ?
(1) Wl (2) HHl
(3) TN (4) Tum
Through which weekly did Gopal Ganesh Agarkar advocate social reforms ?
(1) Maratha (2) Kesari
(3) Gyanprakash (4) Darpan
69. W GoiAl R RANE I WEErdl ufeelt HEAT el St U STEviaUd Aigdl

44, WeER qEH Few fauamet sear ?
(1) Ay (2) res Sy g

(3) wfEensH (4) TRERRS dee

Which was the first of its kind social institute courageously established by Jyotiba
Phule in India with the intention of helping Brahmin widows ?

(1) Anathalaya (2) Balhatya Pratibandh Gruh
(3) Mahilashram (4) Punarvivah Uttejak Mandal

Pl HHRITS! SIHN / SPACE FOR ROUGH WORK
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70. WA ot 1855 Wieh fafeciewn T WU AT AICEHEN Hegedl hoddl SIS SE

IR ?

(1) FTH=aR (2) ITHIIR

(3) ARV YR (4) ©t TR

What is the theme of “Tritiya Ratna’ written by Mahatma Phule in 1855 ?

(1) Farmers (2) Untouchables

(3) 1Idol worship by Brahmins (4) Women's slavery

71. . IEORT AESHUT GEIAS g Yo AT M FUAHEE! HIUT T €GT hell ?
(1) VsTes FLY HewH
(2) w@dd WSE W
(3) @A 1y
(4) fusig ol o $fea

Which party was founded by Dr. Babasaheb Ambedkar to work in social and political
fields ?

(1) Scheduled Castes Federation
(2) Swatantra Majur Party

(3) Samata Party

(4) Republican Party of India

72. VR FEAS 1911 7Y 0T U o0 fem 2

(1) 3 WIS (2) FEuEgE TN

(3) YA we (4) FrR HA

To which social organization did Shahu Maharaj give patronage in 1911 ?
(1) Arya Samaj - (2) Satyashodhak Samaj

(3) Prarthana Samaj (4) Brahmo Samaj

73. TE WENSI GHESIE St Th Afaa S v ?

(1) Tl ;T (2) TRem afér

(3) THiaTE (4) TR AFET

Which was the innovative social experiment of Shahu Maharaj ?
(1) Dalit Boarding (2) Muslim Boarding

(3) Hostel (4) Maratha Boarding

el SHNS! ST / SPACE FOR ROUGH WORK
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wedl diet FvE FeAl SR, 1899 Wl UE doieAl SHIUHEUST SV HF @l ?
(1) g g1 e (2) fagair fawmmor

(3) fauar AiERa ameR (4) AfafEaiear qoi=r fmmor

What was the object of ‘Anathashram’ started by Maharshi Dhondo Keshav Karve in
January, 1899 7

(1) Education to orphaned girls (2) Education to widows

(3) Support remarried widows (4) Education to children of remarried

wedl Sl 15 AREK 18918 [UaTel WHHHT Fiow 7Y HvIel favard mee o AEd
el 7

(1) dqEgH (2) Tfur
(3) 9ifawyrs (4) Hfqmer

Maharshi Karve joined Fergusson College, Pune, on 15th November 1891, as a
Professor in

(1) Philosophy (2) Mathematics
(3) Physics (4) Ethics

MUTes OIS S HIvIcl HeifgaeE s=rd Bl ?

(1) IFTA HAS (2) HYHA et

(3) arfEar FHe 4) o Fos
Gopal Ganesh Agarkar was a Principal of

(1) Deccan College (2) Fergusson College
(3) Wadia College (4) Wilson College

T THEr @ Wi H 9 St ?

(1) TBAE R 2) dHiF FwE FH

(3) W Fd (4) . s

Who started the magazine ‘Manavi Samata’ ?

(1) Balshastri Jambhekar (2) Dhondo Keshav Karve
(3) Mahatma Phule (4) Dr. Ambedkar

AT FHIS RN / SPACE FOR ROUGH WORK
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78. FoO UNURT THAITH TOR ST Gl g TR & SNsH sliem s
AT G gEE W A ®ed ?
1) ¥ (2) WP
(3) e (4) Y

In which conference was Dr. Ambedkar introduced to hundreds of Dalits as ‘He is
your future leader’ by Shahu Maharaj ?

(1) Mahad (2) Mangaon
(3) Amravati (4) Nasik

79. TERAT W 9 AT FiwA IO B A
(1) A ST Ry |
(2) AT EdT AAGRET QAR T
3) FEF FEARESHN IfATAT TEE SO 0 e AR
(4) WG FRECHSHT ST WO ST ua e e
By the Pune Pact signed between Mahatma Gandhi and Ambedkar
(1) Independent electorate of Dalits was cancelled
(2) Independent electorate was given to Dalits
(3) Reserved seats were not given to Dalits in Central assembly

(4) Independent seats were not given to Dalits in Provincial assembly

80. ‘Treaf® W @ yRiw ot fafed ?
1) refedadt
(2) JATIHL
(3 foge e foe
(4) W §
Who wrote the book ‘Sarvajanik Satyadharm’ ?
(1) Lokhitwadi
(2) Agarkar
(3) Vitthal Ramaji Shinde
{4} Mahatma Phule
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81, TET Uuais NN T IER 1 B ?
(1) &T7 Sy (2) frafda ae wxo
(3) i fara ot 4) oftaifimwr
What was the main objective of the Second Five Year Plan ?
(1) Construction of Dams (2) Increase in Export
(3) Agricultural Development (4) Industrialization
82, TSt TETT famm wfwdt (TEhE) w57 109 deaiiie deAE A dmam S,
(1) 21 S8R 2002 2) 31 fed 2002
(3) 21 SHER 2003 (4) 381 IR 2003
On the National Development Council approved the 10'! Five Year Plan.
(1) 21 December 2002 (2) 31 December 2002
(3) 21 January 2003 (4) 31 January 2003
83. U YT@Ite Al STHCESIEUT I F@T AT
(1) 1969-74 2y 1974-179
(3) 1980 -85 (4) 1985 -90
The Fifth Five Year Plan was implemented during the period
(1) 1969-74 (2) 1974-79
(3) 1980-85 (4) 198590
84. WA aNfid FAFEIE ASHT AT e TR IO STl
(i) 1948 (2) 1850 (3) 1951 (4) 1952
Planning Commission for Economic Development of India was established in
(1) 1948 (2) 1950 (3) 1951 (4) 1952
85. TAR @R AT & dgaifis Al fomd o,
(1) e (2) &= (3) fag=m (4) ur=ed
The formation of Damodar Valley Project is the result of Five Year Plan.
{1) First {2) Second (3) Third (4) Fifth
86, wfGd frfer (rdat gersh) onftr stenffear & Jeafi A TgE IED .
1) faa=m (2) urEem (3) & (4) R
The removal of poverty (Garibi Hatao) and attainment of self reliance was the main
objective of Five Year Plan.
(1) Third (2) Fifth (3) Second (4) Sixth
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87.

24 A

WAl VA RIS ISR e e QU SHA1 SHishE] I T IR,
(1) @AM (2) WRE{ FREH (3) & FREH (4) TEE SREH
Next to agriculture activity, is the second largest employer in India.

(1) Handloom (2) Sugar industry (3) Jute industry (4) Steel industry

88. & uRare gald e B R,
(1) R (2) 9= (3) Tm (4) ForH
is the longest glacier in India.
(1) Hissar (2) Chandra (3) Ganga (4) Siachen
89. WA TYRT WA WA UHUT AEET YA gald JAfyd e T U
(1) 7oA (2) wHETE (3) fgim (@) 3

The state having maximum proportion of Scheduled Tribe population to total
population in India is

(1) Gujarat (2) Tamil Nadu (3) Mizoram (4) Orissa
90, WRATAT TV fereifiet aeier 9% fRr amTer o,
(1) 6555 (2) 8517 (3) 1717 (4) 6000 '_..—-"‘
The total length of Indian coastline is kilometres.
(1) 6555 (2) 8517 (3) 17517 (4) 6000
91. WEEHHE FU AW AG-WAS FEAAE 3 2
1) (2) e (3) TEA HTAR 4) Fieen
Which of the following ports is oriented to export of iron-ore ?
(1)) Chennai (2) Kolkata (3) New Mangalore (4) Kandla
92. wEE @EE T TSI FA FTH R,
(1) FARH 2 ¥ (3) W (4) dfHSTE
The first tea plantation was taken up in state.
(1) Karnataka (2) Kerala {(3) Assam (4) Tamil Nadu
93, fiems 2% dr T FRErE i f Yt drerel o o,
(1) dfeen 2 FE 3) fog=m (4) e
The formation of iron and steel industry at Bhilai is the result of __ Five
Year Plan. '
(1) First . (2) Second (3) Third (4) Fourth
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94, TE FSIA s ITNEAT TR HEE IR,
(1) waH (2) T (3) (4) wgd
India stands in the world in the production of coal.
(1) First (2) Second (3) Third (4) Fourth
95. YFR SCUElT aEgEEn v FH HEAEd fAwE e ae T AR
(1) Higem  (2) HEE (3) wea (4) -y
To reduce burden on Mumbai port a new port has been developed at .
(1) . Kandla (2) Marmagoa (3) Haldia (4) Nhava-Sheva
96. &S - YUST o TPF WO wEE 3.
1 | (2) | (3) 33T (4) 99
Mumbai — Panaji is the national highway no,
(1) Sixteen (2) Seventeen (3) Eighteen (4) Twenty
97. % WRardiel dfeer oigar 3.
(1) fee=t @ smm 2) HaE o I
(3) FEEl ¥ @EE (4) 9= d e
is the first rail-route in India.
(1) Delhi to Agra (2) Mumbai to Thane
(3) Howrah to Kharagpur (4) Chennai to Renigunta

98. TR focgaria faael siafis aurd Qi ST STATTS THg 3R ?

(1) st Fmfor (2) FEE a5y
(3) HE (4) el
Chincholi industrial estate in Solapur district is specialised in
(1) pharmaceutical {2) leather material
~(3) paper (4) hosiery
99, UY=H HENEE feeganed sieEEey 8 e,
(1) Y= (2) g (3) IR (4) ey
In Western Maharashtra, bauxite deposits are found in . district.
(1) Nashik (2) Pune (3) Kolhapur (4) Solapur
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100. FERIPIIS MR Saeiel Yaarifed i aqEd Teieds i3 3R ?
(1) e (2) FOX (3) TEER (4) dE
A five star industrial estate near Nagpur in Maharashtra is located at
(1) Nivali (2) Indapur (3) Butibori (4) Valunj
101. ARENIETAE T 92T Gieie emeia ITmisdar Mg STR.
(1) AR - =ER (2) TITE - R
(3) Wag- Ul 4) T - S
The belt is famous for its mineral based industries in Maharashtra.
(1) Nagpur — Chandrapur (2) Raigad — Ratnagiri
(3) Mumbai — Pune (4) Nashik — Jalgaon
102, TENETE fSegait d@&n TR,
(1) 35 2y 37 - (3)y 31 (4) 28
Number of districts in Maharashtra is
(1) 35 (2) 37 (3) 31 (4) 28
103. HWENET 7 fegamed dide Wi fawga w8 sTeeard.
(1) TP & T (2) TR 9 Hie
(3) Y3 @ JMa (1) TIAHE 9 qRL
The largest deposits of manganese are located in districts of Maharashtra.
(1) Nagpur and Gondia (2) Satara and Sangli
(3) Dhule and Jalgaon (4) Yavatmal and Parbhani
104, FFOTAS S oA I RO KPHS T
(1) 9@, Foel, wer, s (2) 9=, WieT, $wel, Sard
(3) P, g, Wi, N (4) T, Wel, e, 93
Arrange the ghats in Konkan from North to South.
(1) Thal, Kumbharli, Phonda, Amboli (2) Thal, Phonda, Kumbharli, Amboli
(3) Kumbharli, Thal, Phonda, Amboli (4) Amboli, Phonda, Kumbharli, Thal
105, Iq@ A=At e foceAw eean.
(1) mﬂ%’i (2) T
3) W (4) =8 w& e
Alphonso mango trees are found in following districts :
(1} Sindhudurg (2} Ratnagiri
(3) Raigad (4) All the above districts
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106, HERIPTA feg wi= o’ STeAERaT WG SR
(1) Y2 F TR 2 T T
(3) WA § v (4) G F A
In Maharashtra districts are known for their grape production.
(1) Dhule and Nashik (2) Pune and Nashik
(3) Satara and Nashik (4) Sangli and Nashik
107. FE T GEAITUR Jen[d Faoaal YHEy YRAE Toqued JR0ard el ?
(1) 4591 He gowlt (2) 468 g geE
(3) 428 weAT O (4) 448 "1 SEEI

By which amendment were Fundamental Duties included in the Indian
Constitution ?

{1) 45th Amendment (2) 46th Amendment
3) 42" Amendment (4) 44 Amendment
108. AT TSIUE-=A] Y&AE-d HITea GHeaiel 3HuhA oo 378 ?
(1) @A (2) @5 (3) =4 (4) =Y9E
Which concept has been given priority in the Precamble of Indian Constitution ?
(1) Liberty (2) Equality (3) Justice (4) Fraternity
109, WRA HEE o dIHT RRYE F quladr ?
(1) gy (2) ITATT (3) YayuH (4) TEHA!

Who presides over the meetings of Central Cabinet in India ?
(1) President (2) Vice President (3) Prime Minister (4) Home Minister

110, SFIETT HERISE Y5 ST Usdd fSferge e ?
1 &R (2) THE
(3) wgTEI (@) TF IR TR
Which type of legislature is generally found in the Federal form of Government 7
(1) Bicameral (2) Unicameral
(3) Multicameral (4) None of these
111. faa fadas Aeuid wevaEE o FERE SEvEE W ?
(1) A (2) YR
(3) TPY (4) CHHET
Whose recommendation is necessary to introduce a financial bill in Lok Sabha ?
(1) Finance Minister (2) Prime Minister
(3) President (4) Speaker of Lok Sabha
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112, 9T AFemER i bt FvRr 9 T geiS el 3R 2

(1)
(3

(2)
(4)

73, 748 "HeAT TEE
45, 4681 HEAT JEEA

42, 43 g EEI
75, 763 weEAT et

Which are the two amendments that made Indian democracy more decentralised ?

(1) 73, 74 Amendments (2) 42, 43 Amendments
(8) 45, 46 Amendments (4) 75, 76 Amendments
113. NH W T NS g,
(1) ¥Ex FETHS (2) WA FRETS
(3) TR AT (4) oI A STEATHS
influenced the OBC movement.
(1) Mandal Commission (2) Mahajan Commission
(3) Sarkariya Commission (4) Fazal Ali Commission
114, FRENE favrmer yemedE wE & ?
(1) ¥&F dfea 2 faem wfaa
(3) o afwm (4) T |faa
Who is the administrative head of the Planning department ?
(1) Chief Secretary (2) Planning Secretary
(3) Finance Secretary (4) Home Secretary
115. SVl 9l WERTY TSET Ufed SISt TR WINA Fe ?
(1) 1978 (2) 1995 (3) 1989 (4) 2004
In which year was the first coalition government formed in Maharashtra state ?
(1) 1978 (2 1995 (3) 1989 (4) 2004
116. Ts9 Y9di fusr== Rl SUadiar HeRpa we) uden S FEfs & ?
1) A dee
(2) WM WHuar
(3) T AEHHaT A
(4) T wofE

Who conducts the competitive examinations for the recruitment of state service
officials in Maharashtra ?

(1)
(2)
3
(4)

Planning Commission

Maharashtra Public Service Commission
Union Public Service Comimission

None of these
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117. fHaHydd 99E qq TSN fuids Wd UAET MYER SivTer R ?

(1) FEHA (2) TSI

(3) faax (4) SUqETE

Who shall exercise a casting vote in case of a tie in Legislative Assembly ?
(1) Chief Minister (2) Governor

(3) Speaker (4) Deputy Chief Minister

118, faur wRycen Tei Fd@es fFd aui=n sm® ?
(1) 63 (2) 3 & (3) 4 Fuf=n (4) 5 FuET
What is the tenure of the members of Legislative Council ?
(1) 6 years (2) 3 years (3) 4 years (4) 5 years

119. TIKE 934 909  9d Sqavara sifder Sioen AR ?

(1 e 2) TSEUE

(3) Teq e 4) Ty

Who decides Pay and Allowances of ministers in the State ?
(1) Chief Minister (2) Governor

(3) Legislative Assembly (4) President

120, THIIRAAEAT SR HIEd ST & 7

(1) forewr iteg (2) T F&EK

(3) d=Ea i (4) HE TWE

Who sanctions grants for the Gram Panchayat ?

(1) Zilla Parishad (2) State Government
(3) Panchayat Samiti (4) Central Government

121, TENER el §. wmiaEg g $OR M S 2

1 e (2) <uet (3) BB (4) FARYL
Which village first started E. Gram Panchayat in Maharashtra ?
(1} Hingoli (2) Tenbhali (3) Chaphal (4) Malkapur
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122, TITEHS SR @I quEar ?

(1) AW HaF (2) w4

3) T foEm afyerd (4) s Foid A

Who presides over the Gram Sabha ?

(1} Gram Sevak (2) Sarpanch

(3) Block Development Officer (4) None of these
123, FHUSE 9 FOAMET FHER BT R 2

VIR EIEE (2) Fx TER

(3) fawri sy (4) T WFR

Who is empowered to establish Gram Panchayats ?

(1) Collector (2) CentrallGovernment

(3) Divisional Commissioner (4) State Government
124. ArRESERT fEE Somd g ?

(1) TST ArHear STant (2) faria smE

(3) TEfgerRR 4) fae@ feg de=

Who selects the Village Development Officer ?

(1) State Public Service Commission (2) Divisional Commissioner

(3) Tahsildar {4) District Selection Board

125, T TG AHEW WS FHUSAE 9 ey Soren ik w2
(1) Fosag Hgar |t 2) =3 FOHER g
(3) <Ewa w9 @ (4) =¥ T i
Which Committee recommended establishment of Gram Sabhas in every state ?
(1) Balwantrai Mehta Committee {2) V.T. Krishnamachari Committee
(3) Lakhmat Jain Committee {(4) V.K. Rao Committee

126, ‘TRATH WS Sr B ITHH HvIE SegAd R e o 7
(1) F@R (2) HER (3) SBTE (4) W
Which District launched the programme ‘Lakhapati Mazi Kanya’ ?
(1) Kolhapur (2) Satara (3) Jalgaon (4) Latur
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127. 2011 = 9gH fayE0r QUK I WSH AT A 2

(1) €. g e (2) €. veER el
(3) W= fam swEi (4) wde Holig A
Who was awarded Padma Vibhushan for 2011 ?
{1) Dr. Narendra Jadhav (2) Dr. Balchandra Mungekar
(3) Montek Singh Ahluwalia (4) None of these
128. 37 e R g faee 2010 SiFRE TR RA WWET @ren .
1 et (2 d@&F (3) e (4) M &M
India participated in the ‘Nuclear New Build 2010 Conference’ organised in
(1) New Dellm (2) London (3) Paris (4) Hong Kong

129. @R %oy FHuredr e g ?

() TG (2) WA g
(3) I, T (4) @
Name the virus that is responsible for Swine flu.

(1) H2N1 (2) HIN2

(3) HIN1 (4) None of these

130. ‘IR (AR Howr 24 A\ ?

(1) $SRfE (2) WRd (3) fefomé= 4) B
Which country gives Magsaysay’ Award ?
(1) Indonesia (2) India (3) Philippines (4) Britain

131. TEieils i TS A I S0 T ?

(1) FHgE (2) FIEHE (3) IR (4) HITET
Which one of the following dances is most popular in Kerala state ?
(1) Kuchipudi (2) Kathakali (3) Bharatnatyam (4) Bhangda
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TRATeAT UFTE AHeIESR AT 376 Huy 3Ra 2

(1) =gyl wd. TS 99 (2) i fifer s=m

3 =Egd o Mg sEg W (4) ITUUT TR

Who is the Chairman of National Human Rights Commission in India ?
(1) Justice S. Rajendra Babu (2) Dr. Girija Vyas

(8) Justice Shri Govind Prasad Mathur (4} Anna Hazare

133. TElede! S Torel SEa T3a & A9 Sed R 2

(n SEfafesm (@ F 3y e (4) fadfn

Kavita Raut is associated with which of the following sports ?

(1) Athletics {2) Wrestling (3) Cricket (4) Swimming
134, “Fase HRElEEA’ ¢ R i fadd ?

1) I TEBH (2) BT XUH

(3) Jume M (4) IR 9 \

Who wrote the autobiography titled “Kosbadchya Tekdivarun” ?

(1} Godavari Parulekar (2) Snehaprabha Pradhan

(3) Mrinal Gore (4) Anutai Wagh
135. FHUI FVATEH TP GRAT § T WRG WERA 99 her ?

(1 & 2 = - 3) @ (4) W

Which of the following animals is declared as ‘National Heritage’ by the Government

of India ? A

(1) Elephant (2) Tiger (3) Lion (4) Deer -
136, HIUTCAT JUEHE 2010 Vel Wid: T EALTE & ?

(1) wfEEm (2) "UZ (3) WRd (4 [T

Which country had the Chairmanship of SAARC 2010 7

(1) Pakistan (2) Nepal (3) India (4) Bhutan
137. YRAH 21 W 2010 TS HIUTT SYUTET ARAGT O FeAr ?

(1) R, (2) 3 3 fRE (4)
Which missile was successfully launched by India on March 21, 2010 ?
(1) Brahmos (2) Agni (3) Trishul {4) Nag

| STE0] BN 3NN / SPACE FOR ROUGH WORK




A 33 RCM

138, Wo= sarITd fawa we @ a1 foHE SO I SR
(H) wWEwE (@) e 3 dem (4) Seame
Famous industrialist Vijay Mallya is the Chairman of Airlines,
(1) Spicejet (2) Kingfisher (3) Indigo (4) Jetlite
189. T i AT G A9 OEE A gWEN d@® ? 3R
(1) = o (2) ¥ W
(3) WU U4 (4) gyaEd fqu
‘The Three Mistakes of My Life’ is written by
(1) Yashwant Sinha (2) Chetan Bhagat
(3) Arundhati Roy (4) Khushwant Singh

140, RGN &7 FESUE TgE R0 oRT ?

(1) & foed (2) A& =@

(3) UH.AME, U (4) Fduw. =
Who is the Chief Election Commissioner of India ?

(1) Navin Jindal (2) Navin Chawla
(3) S.Y. Qureshi ~(4) KPS Gill

141, TSAMT UEET gl Ui SIddwey SIvel T9H AR el 7

(1) HeRTE (2) wHAEH (3) Yot (4) fagn
Which state prepared the first Agro based budget ?
(1) Maharashtra (2) Karnataka (3) Punjab (4) Bihar

142, 2011 91 ‘W 9RE JEER FOT GH FOAW Sl 7

(1) o HeE (2) sman WEA

(3) {HT ST (4) 3 HE

Who was awarded with ‘Swar Bhaskar’ puraskar for 2011 7

(1) Lata Mangeshkar (2) Asha Bhosale

(3) Suman Kalyanpur (4) Usha Mangeshkar
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143. 57 =1 TFH fren wRicwamed @diads: Slvran wel foae™ Sy W fhew’ 31 TR
o qen 2
(1) T (2) 7Y
(3) SEm (4) IS A

Which of the following Marathi films was awarded ‘Best Feature Film’in 57th National
Film Festival ?

(1) Natrang (2) Gandha
(3) Jogva (4) None of these

144, FE fegq TEE wdeq KT = GO Fen I 2

(1) 25 SHad (2) 31 SHad
3) 8IHal @) 12 S
Which day is celebrated as ‘National Tourism Day’ ?

(1) January 25 (2) January 31
(3) January 8 (4) January 12

145. TENYEA Qe Aerdaresus) o fRw ae e ?

1) €. REmEed (2) s ¥ fame

(3) faga M= (4) e oREAE

Who is the Director General of Police in Maharashtra ?

(1) D. Shivanandan (2) Dr. Ravindra Shisve
(8) Vitthal Jadhav (4) Ajit Parasnis

146. TR (ISRO)‘%W,H?WT 3MRA ?

(1) HEH (2) = & THHUE

(3) AW oga FAW @ R wiE A
Who is the Chairman of ISRO ? |

(1) Kasturi Rangal (2) Dr. K. Radhakrishan
(3) APJ. Abdul Kalam (4) None of these
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M W e A G- He g oM ?

(1) AE (2) e

(3) I LR, (4) TR

Aamir Khan is brand ambassador of which mobile company ?
(1) Nokia (2) Samsung

(3) ACER (4) Motorola

148,

TP U G e faum e X "o mv faefay faga e ?
(1) IE YER, YENS =]

(2) foenite fAdie udid, geis T

(3) IR TN, g T

(4) IETUE ==, YHRS <

Which two Chief Ministers were elected unopposed as members of Legislative Council
of Maharashtra ?

(1) Sharad Pawar, Prithviraj Chavan
(2) Shivajirao Nilangekar Patil, Prithviraj Chavan
(3) Manohar Joshi, Prithviraj Chavan

(4) Yeshwantrao Chavan, Prithviraj Chavan

149.

FIOTAT 7 THA AW HHeAd FEdT e ST ?
(1) fesit (2) A (3) SHicaE (4) 3foa

Which of the following countries has recently joined NAM organization ?
(1) Fiji (2) Cuba (3) Colombia (4) Egypt

150.

ToIfgEe 9 3Temer So7 ?

(1) .= wmd (2) ot

(3) Sf. faw@ g (4) wEE. foegem
Who is the new Chairman of Infosys ?

(1) K.V. Kamat (2) Sudhamaurti
(3) Dr. Vijay Bhatkar (4) S8.D. Shibbulal
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